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Zadatak 26. Dana su dva susjedna vrha kvadrata, A(−1, 4) i B(2, 0) . Odredi jednadžbe
stranica tog kvadrata.

Rješenje.

a (AB) . . . y − 4 =
0 − 4
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b . . . b ⊥ a, B ∈ b

b ⊥ a =⇒ kb = −1
1
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3

=
3
4

B ∈ b =⇒ y − 0 =
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4
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3
4
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d . . . d ⊥ a, A ∈ d

d ⊥ a =⇒ kb = −1
1
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3

=
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3
4
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4
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C ∈ b d(B, C) = d(A, B), C
(

x1,
3
4

x1 − 3
2

)
D ∈ d d(A, D) = d(A, B), D

(
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3
4
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)
d(A, B) =

√
(xB − xA)2 + (yB − yA)2 =

√
(2 + 1)2 + (0 − 4)2 =

√
9 + 16 = 5

d(B, C) =
√

(xC − xB)2 + (yC − yB)2

5 =

√
(xC − 2)2 +

(
0 − 3

4
x1 +

3
2

)2 /
2

25 = x2
C − 4xC + 4 +

9
16

x2
C − 9

4
xC +

9
4

25
16

x2
C − 25

4
xC − 75

4
= 0

/ · 16

25x2
C − 100xC − 300 = 0 / : 25

x2
C − 4xC − 12 = 0
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(xC)1,2 =
4 ±√

16 + 48
2

=
4 ± 8

2
(xC)1 = 6, (xC)2 = −2

(yC)1 =
3
4
· 6 − 3

2
= 3 =⇒ C1(6, 3)

(yC)2 =
3
4
· (−2) − 3

2
= −3 =⇒ C2(−2,−3)

d1 . . . d1‖a =⇒ kd1 = −4
3
, C1 ∈ d1

=⇒ y − 3 = −4
3
(x − 6)

/ · 3

3y − 9 = −4x + 24

4x + 3y + 33 = 0

d2 . . . d2‖a =⇒ kd2 = −4
3
, C2 ∈ d1

=⇒ y + 3 = −4
3
(x + 2)

/ · 3

3y + 9 = −4x − 8

4x + 3y + 17 = 0
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